@D 2 Series

BIEYE S B with bearing mounted hub

G T L
W 300 /// '- N1 QJ P
o i // -I%« ) &

@D1

A
@B
ad

AIZE MODEL CJ20S6AA CJ21S5AA CJ22S5AA | CJ2005AA CJ2010AA CJ2020AA
St o Toree 5.5 11 22 45 90 175
S e e | B0 10 20 40 80 160
TN Power [24V](W) at 20°C 14 22 26 29 37 44

A 74 93 116 144 178 225
B 70 88 110 137 172 217
C 33 37 47 52 62 74.5
d(H7) 12 15 20 25 30 40
d1(H7) 12 15 20 25 30 40
E 39.8 56 61.5 76.8 99 117
F 5 5 4.3 5 10 10
[ 49 66 72 88 117.5 135.5
N D1(js6) 38 45 55 64 75 90
7 G 12 14 16 16 25 25
H 45 5.5 6.5 6.5 8.5 8.5
R L 54.7 63.3 73.7 90.8 112.8 134
) M1 25 26.5 30 34 43 50
Exterior M2 21.5 26.5 32 44 54 63
dimensions N1 20 25 30 40 50 60
N2 2 25 3 2 3 5
0 6 7.1 8.5 10.6 12,5 15.7
P 2 2 2 2 3 3
Q 8 9 9.5 11 15 18
w 4 5 7 10
T 13.8 17.3 22.3 28.3 33.3 43.8
Z1 3-120° 4-90° 6-60° 4-90°
z2 60° 45° 30° 45°
a 0.2 (+0.05) 0.3 (39" 0.4 (x0.1)
W1 4 5 7 10
T1 39.5 47 57 67 78 93.5
m 3-M4x4 3-M4x6 4-M4x8 6-M5x8 4-M6x12
B2 (kg) 0.8 1.3 24 4.2 8.3 15.6
{REEZR S Protective 07D470K 10D680K 14D680K

85




